SCHOOL EDUCATION DEPARTMENT- T HOOTHUKUDIDISTRICT

NMMS- MAT-UNIT TEST-1V(2023-2024)

PART - 1: MENTAL ABILITY TEST
(For Student of Class VIII)
Time 90 Minutes Max Marks 90
INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open
the Question Booklet.

1.Answers are to be given on the same OMR Answer Sheet.

2.There are 90 questions in this booklet. All are compulsory.

3.Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark or x in the OMR sheet.

4.Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much time on any one question.

5.1f you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
have left in the first instance and attempt them.

6.Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet/loose paper.

7. Each correct answer will be awarded one mark.

8. Please return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the

Question Booklet.

9.Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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The following diagrams some relationship
among three items. Choose the correct diagram

2Ch © w (09
ro¥e QQ

1] Square, Rectangle, Polygon
1] a 2]1b 3lc 4]1d

2] Husband, Wife, Family
1) a 2) e 3)ec 4) b

3] Mammals, Crow, Cow
1) a 2) e 3)c 4) d

4] House, Brick, Bridge
1) a 2) e Iec 4) d

5] Seed, Leaf, Root
1) a 2) e R)XH 4) d

Square - People who are interested in Cricket

Rectangle - People who are interested in Kabaddi

Circle - People who are interested in Tennis
Triangle - People who are interested in Football

6] Number of people interested in all Four Sports
117 2]8 319 4]2

SY&HTTVILD QUMTLIL M6 SH6o11HSHTILITS

3 2 mIUL&el6s QSTLITLSHED6NES CIBT6TIILG).
e@6uCleur (@, ellsumeaileid Qe&TESHSLILILL
QBTG LILGET CHEILD 6(1, LILHSHlenest
HeneraimISHAMGI. iSenets

SHIT6U01S. QY6ITIT 616501 : (1 —5)

oG © w (09
IO o (B

1] &gIyLn, QFeueusLn, ua)(‘;a,rrcmm
1]a 21b e 41d

2] &6Uv16U6HT, LasM6sTEN), & (HLOULD
1) a 2) e 3)c 4 b

3] UTEIL_Iq &61, ST SMISEN, LiGida e
1) a 2) e 3)ec 4) d

4] af(p, Cl&MmI&HEL, LIMeVLD
1) a 2) e 3c 4) d

5] eMleng, Qemev, Geurl
1) a 2) e 3)ec 4 d

&giyln - HMNSAHL aNlenenim_iq 60

pTULAETETEUNSHEN.

Q&6UeUSLO — SHLIMG. ATNMETILITLLG.60

QpTaULaeeneUTSen.

QUL L1 - QL 6trevNerv exlemenim_ig.e6d

3 TEULAETETEUTSHET.

(N&CHMEILD - HTELLIHG! eXleM6NILITL 1g.6D

3 eU(LAETeTEUTSHE.

6] 61 NenenumL_lgey|in

b fieu(Lnenenelseiled sTasucuohens.
117 218 319 4] 2



7] Number of people interested in Kabaddi and Tennis
1] 8 216 3]5 4] 4

8] Number of people not interested in Kabaddi and
Tennis and Cricket
115 2]1 312 4] 11

9] Number of people not interested in Kabaddi,
Football and Cricket
1] 10 2]2 313 4] 4

10] Number of Kabaddi anf Cricket Players

119 218 312 417
11] + means +, - means X, + means +, X means -
then 36 x12+4+6+2-3=7?
1]2 2] 18 3] 42 4 gt
z

12] L denotes X, M denotes + , P denotes +, Q denotes -
then 16 P24 M8Q6M2L3=7?
1] 13/16 2110 3114172 4] -1/6

13] x means +, < means -, + means +,> means X,
- means =, means >,=means < then
Which statement is correct ?
1] 3 x2<4+16>2 +4 2] 5>2+2=10<4x 8§
3]3x4>2-9+3<3 4] 5x3<7-+8+4 x1

14] Which one is correct ?
Interchanges in Sign : - and +
Interchanges in Numbers : 8 and 4

11 4+8-1=5 2] 4-8+5=19

3] 4+8-5=10 4]14-8+12=1

7] &LMg LoMHMILL QL 6dTesllery aNemennim_ig 60
Sy lieuLpeneneuriseesn 616501601 &He0.
118 216 315 4] 4

8] &M, GLsbTeNlerv LOHMILD HM&HCSL 160
SpauLfeveorseuiidefes 6165160 5H6m8.
115 211 3|2 4 11

9] &UMq, SMTELLIHG! LoMHMILD HIM&GHCIHL 19.60
SpfieuLflebeongeurseledn sTiu16utN5H608
1] 10 2] 2 3]3 4] 4

10] SUMg LOHMILD HNGHCSL
elemenumBLeuT&eflest 616301658118608.
119 218 312 417

11] + 6T60TLIG)] + SGU|LD,-6T60TLIG] x PUJLD, +
6168TLIG) + SJUJLD LOMMILD x T6HTLIG) - SJULN,
GMDSHHMED 36 x 12+4+6+2-3=?

1]2 2118 3] 42 4 Gi

12] L 6T601LIG)] X GUJLD, M 6T60TLG] ~ SGUJLD, P
6160TLIG) + UL, Q 6TEHTLIG) - SJULD,
GMDSHSMEL. 16 P24 M8 Q6 M2 L3 Qedn

1] 13/16 2] 10 3114172 4] -1/6

13] x 6T6BTLIG)] + 6T6BIQYLD, < 6T6BILIG) — 6TEUIEYLA, +
6160TLIG + €T6UTELD, > 6T6HTLIG] x 6T6vTELD, -
6168TLIG] = 6T6U LD, + 6168TLIG)| > 6T6vE LD, =
6168TLIG) < T6vTELLD QSHMTEHuTL_ ML &Miimewt
a MM 615)?
1] 3 x2< 4+ 16> 2 +4
3]3x4>2-9+3<3

2] 5>2+2=10<4x 8
4] 5% 3<7+8 +4 x1

14] $0&6SEULQUDMIET 618 SMILIMENG) ?
LorHM SML0SHSHLILIL Goueunig il G : -, +
Larm SiemLo&&LILIL Ceresuliq Ll 61650 : 8, 4
1] 4+8-1=5 2] 4-8+5=9

3] 4+8-5=10 414-8+12=1



P _Termit G- Criciat

15] Which letter represents the players who play
all games?

(1) d. Q)e. A3) ¢ @b

16] Which letter represents those who do not play both
the football and tennis?

@ g 2) a. 3 f. “) e

17] Which letter indicates those who play only tennis?
M)e. 2)d. A3 g “4)a

18] Which letter represents those who can play
cricket but not tennis?

() f. @) d. A3) e @b

19] Which letter represents those who play both
tennis and cricket but do not play football?

(1) b. 2) f. 3) d. @) c
20] If 'x' stands for '-', '=' stands for '+', '+' stands
for '+' and '-' stands for 'X' then which of the

following is correct?
(1) 15-5+5%20+10=6
(3) 6x2+3+12-3=15

(2) 8+10-3+5x6=8
@) 3-7-5x10+3=10

Answer the following questions using the
given information
If + means -, - means X, X means +,
+ means +, |* means \/, then
21] |7 (100-2+60+4) =?
1 12. (2) 40 3)20 “4)6

15] 61bY 61(BSHG SMETSH )
edlememnumL_ (B sHeneniLLd elememum(BLeuisHemnen
GDGATDGI?

1) d. Q2)e. A3) c. @b

16] 6ThS 61(RHGI HTELLIH G, ClL_6cvr6vTlery
@yeuuienL LD e6METUITL_TS6UITSHEM6NH
GDIHADS?
a g 2) a. 3 f. “ e

17] 61hS 61(RHGI QL sdtevflerv L0 (HLD
eflenenumBUelTSHenen GMILILIG) 6152
(M) e. ) d. A3 g @a

18] &MLLIHGI, HMSHCBL aNlemrenum_sgolg.iu
2,660 QL_6d1evilery elemennUmLMSeusHenens
GDSGLD 1RSI 61817

. (2)d. A3) e. @ b

19] 6Tl 61(9SHG| STELLIHG] 66T TS
QL stresilery LoMMILD HM&HQSL
ellenenum(ueUT&Henend GHISAMSI?

@) b. Q) f. 3) d. @) c

20] 'X' 61681LIGY] '-', '+' 616HTLIG] '+' , '+'6T6HILIG) '+’
LOMMILD '-' 6T68TLIG) "' 6163160
Met1eu(m eueTeummIeL &MLIMEBIZ) 61812
(1) 15-5+5x20+10=6 (2) 8+10-3+5x6=8
(3) 6x2+3+12-3=15 (4) 3-7-5x10+3=10

Qe &sLILL (66T &o6uc0S 660
SligluenLufied S @GO LU @Genen
N6 HSEhH&HG alenL eilsHaHaLn .
+6160ILIG) - eTevIeLD, - 6T6OILIG) x 6T6vIQYLD,
x GIGOTLIG) + 6160IGLD, ~ 6T6OTLIG)] + 6T6BIGLN,
[~6T68TLIG)  6T6W1 6 LDGSTETHUTL_T6L
21] [A(100-2+60+4) = ?

112 () 40 (3)20 6



22] | 225x15-10 =
Mm215 @10 @11 @) 20

23] In a code A, Band C take the values from 0 to 9,
If ABA + ABC + ACC =1416 then the value of
A,B and C respectively are.

1 4,7,6 2)5,1,4 3)4,2,6 “46,2,4

In the following question is written without
marks between every two numbers from the correct
equation out of the 4 alternative answers given.
choose the one answer

24] 16 o 150 3o11
1) + == () =4+ @3) ++= (4) -+=

In the following diagram ,
Triangle represents 'rich', Circle represents 'farmer'
and rectangle represents “rural”
The numbers in Different segments show the
Number of person .

25] How many rich formers are not rural ?
D12 2)8 3)4 4) 7

26]The condition for order of operation is
“BODMAS” Now “D” Stands for ----------

1) Bracket 2) Divider

3) Denomination 4) Division

In the figure : Square represents Doctors ,

Triangle represents Ladies, Circle represents Surgeon.

B i

S(T U
o

Q

22] |"225%x15-10=
M 215. 2)10. @)1 (420

23] @ GOWIL G (Lenmulled A, B LOMHMILD C
L HILm6U 0 (LAGH6L 9 euemUTIevmedt LaGILIenLI

Qanevi(henenss. SiLD(LNMMUTED

ABA + ABC + ACC = 1416 616360 A, B
LOGHIIL &6 (LOEDHDGILT e
1M 4,7,6.  (2)51,4 (3) 4,2,6.

,C. 601

46,2,4

B06,861L eXleun & eMett peuQeurm(m, @b
6163016 &GL0 QenL Gl GIs6 Qe0e0MLA6L

e1@SLLL Beneng QamRoHaLuL (b

eYien HIT6HIG)

LormHmi eNenL_sefled FMILIMEs &LO6HTLITL 6L
SIMLSHGLD aNlenL 66t16mM CHMHASHE-

24] 1601503011

@1 +,+= 2) =57+ 3) ++= @) -+=

AUILIL_$8160 (LNSHCSHTEUIIL - LIGTTSSTIIT,
QULL_LD - 2 tpeurT, Q&6ueusLd - HmoLimLo

GD&EDG.

25 | 616&60I681 LIGTBISHSIT] e TUTN &6

ArmngHed Qevene ?
112 2) 8 3)4 4) 7

26] BODMAS 6T6TLIGI6L D 6T60TLIS 66T
alMeuns s -

1) SeoLly 2) euGdHH

3) u@HeeL 4) NMey

AL $EH6L &ZIPLD - L[S GIOU,

QULL LD - SimIeneu & Emag HiLjevor,
(LN&HCHTEUUILD - QLIGTIISENT 6165 MILD GMISHMDG




27] By which letter the ladies who doctors
and surgeon both are represented ?
HU )T 3)S 4) P

Select the correct ones

S 9
O »Or

28] Table, Cot, Furniture
1A 2)B 3)C 4) D

Select the correct ones

€ O°
S P

29] Hours , Days , Months

1) A 2) B 3) C 4) D

30] Simplify : 7-24+8x4+6
1) 2 2)3 3)1 40

31] Simplify : (17-6+2)+4x1
1) 16 2)7 3) 18 45

32] Simplify : 6x4+12+72+8-9
D1 2)7 3) 2 4)5

33] simplify : -2 (1x4-2+2)+(6+2-3)
1) -2 2)3 3.1 41

Choose the appropriate picture from the alternative

answer to illustrate the given words

O

& & S
' @
O E'D

27] L0(HSHGHIAUT & MIN6 G0
RyesoIgT s @\(Ih&HEGLD CILI6TTISHEM 61T
©DI6GL 19SS 6181 ?

Hu 2T 3 S 4P

UL $&eL &Muimeeumenm G¢r‘rrj,Q¢®

/ﬁ
(( > . @O
28] Table, Cot, Furniture
DA 2)B 3) C 4) D

UL $&eL sMwmereumenm CHMHASH®

e » OFr
& - QO

29] Hours , Days , Months
1) A 2) B 3) C 4) D

30] LOGLIY SHTEHUIS : 7-24+8x4+6
1) 2 2)3 )1 40

31 HHSHSS : (17-6+2)+4x1
1) 16 2)7 3) 18 4)5

32] G (hHGS : 6x4+12+72+8-9
H1 2)7 3)2 45

33] LOGILIL SHTEHOIS : -2 (1x4-2-+2)+(6+2-3)
1) -2 2) 3 3) -1 4 1

Qam@éHsLIULL Qamhaemen ellené@Lo
QUIBHSLONe LIL S0 LaMMHMI eNenL_safled
al Gt Gér’",b%@wmm

O

(& )
A
(DR E'D



34] Red, Rose, Coconut Tree
1]1b 2] a 3]c 4] d

35] Women, Mothers, Widows
11 f 2]1b 3le 4] c

36] Hen, Egg, Deer
1c 2] a 3]b 4] f

37] Human beings, Heart, Mirror
1]b 2] a 3lc 4] d

38] College Students, Singers, Dancers
1] f 2] a 3lc 4] d

39] Fruits, Apple, Carret
1] f 2]1d 3lc 4] e

40] Vegetables, Cabbage, Orange
1] f 2] a 3lc 4] b

41] Singers, Actors, Dancers
1] f 2] a 3le 4] d

41] Planets, Earth, Stars
1] ¢ 2] a 3]1b 4] f

42] Metals, Iron, Chlorine
1] a 2] ¢ 3]d 4] e

1. In the figure given below, there are three
intersecting circles each represents Electricians,
Artists and Singers. Different regions are marked as
1 to 7. Read the statements in each of the following
question and choose the correct answer.

43] Electricians who are artists and singers:
1]2 2]5 317 4] 4

34] &leuliy, Gommés6i, Q& 6160601
11b 2] a 3¢ 4]d

35] QILIGTUI&6NT, SHTUILOMITS6T, TG 6MEUSBEN
1] 2]b 3le 4] ¢

36] G&MA, (LAL 6L, LOM6dT
lc 2] a 3]b 4] f

371 o6 &6, QSUILD, SHEIvTEwTTIg.
11b 2] a 3¢ 4] d

38] &60eVNIM LOMETBIEUIT&6NT, LML &1, [hL63TLO
S BLUMSH6H
1] f 2] a 3]lc 4] d

39] LmIGeET, QpLifen, CapL
1] f 2]d 3lc 4] e

40] SMUSMHSHEN, (LAL ML SHCHTENV, 4 Ehdr
11f 2] a 3lc 41 b

41] UML-&I1&6, [blg.&HT&6M, bL6aTLh S (BLIeUTSH6r
11f 2]a 3le 4] d

41] Gamensei, L LA, bL&SHHTMHIS6I
1] ¢ 2] a 31b 4] f

42] 2 GeonaLd, @(mLoL], @Cenmiiedr
1] a 2] ¢ 3]d 4] e

UL &L eLneitm) Claul (HLD QUL L Riser
e6UQeumaIMILD GMILILIG) L6 euiLIcL
EUELAIDHITHET, HEMEV(EHITHEIT LOMMILD

LML &M1&61T QG L0. 1 (10H6L 60 Ceumiui L
L@ 61 GMSHsUILL HeTengl. QamhoHainL L
FaMHmISemenL Lig &Gl elenL_leébaalLn.

43] &HEMEV(EHITSHENT LOMMILD LITL S1SH6NTSH
A &@©L0 LA6ITENILIEL EUCLEYIDITEHEIT
112 215 317 4] 4



44] Only Artist represent the redion
1]2 313 317 4] 5

45] Singers who are not electricians and Artists
117 214 3]5 416

46] Artists who are Electricians but not Singers
1] 2 213 315 417

47] The region 7 represents:
1] The people represents all the above.
2] Arists who are Electricians
3] Singrs who are Artists
4] Electricians who are Singers

Choose the correct Options :
48] 2x 3+ 6 - 12 4 =17
1] x & + 2] + & -
31+ & + 4] - & +

49150 x5 +10 = 2 =30
11+ & + 2] x & +
3] + & x 41 + & -

50015 + 5x 3 + 5 - 5 = 1
11+ & - 2] - & +
31+ & «x 4+ & =

511 22+ 11 + 12 - 4 = 10
11 x & - 2] - &+
3] + & - 4] None of the above

52] 20x 20 + 200 - 103 = 303
1] + & - 2] - & =+
3] + & x 41 + & =+

53] How many squares are there in the given figure

T
LH L
M
L L

(1) 30 ) 14 (3)33 4) 34

44] BV ISdemeN LI Gl GOLINGLL UGS
12 313 317 4]5

45 | LDieBT6uNLIGD 6)GLEVIBITEHEN LOMHMILD
BHEMEV(EDITSHE H6D6VMG LITL &I15H6H
117 214 3]5 416

46] LITL_SI&6N L6V SHEM6V(EhITSH6N LOMHMILN
LOeBT6uNLIGD QUELEVIDITEH6I
1]2 2]3 315 417

471 7- eugl QL b GOIINBeugI
1] SlmesidbG) eLa6itml LNMedNewt (L0
2] LDeBT6vAlILIGD EUELEVIMHITGET LOMHMILD
SH6MGO(EhI1&H6M
3 | UML&M&6ET LOMMILD &60160(EhIT&HEN
4]L06BT6uNILIGL EUELEVIDITSEN LOHMILD LITL S 186

gMwimen eMemLsniid CHMHOASHH
48] 2x 3+ 6- 12 +4 =17

11 x& + 2] + & -

3+ & + 4 - &+

49150 x5 +10 + 2 = 30
1+ & = 2] x & +
3 + & x 4 + & -

50] 15 -~ 5x 3 + 5 - 5 =1
11+ & - 2] - & +
3]+ & x 41+ & =

511 22 +11 + 12 - 4 = 10
1 x & - 2] - &+
3] + & - 4] None of the above

521 20x 20 + 200 - 103 = 303
1+ & - 2] - & +

3] + & x 4] + & =+

53] UL $56L 615360681 & GINHIG6N 26116116312

o i O
| -
i i
- - -
(1) 30 Q) 14 3) 33 ) 34



The following diagram shows some relationship
among three items. If each group of elements
corresponds to a diagram. find the correct diagram

CQ@..@

(B) (C) (D)

oo%@@D@

F) (G) )
54] Polygons, Quadrilaterals, Squares
Mmc 2B 3)H 4E
55] Students, Kabaddi Players, Cricket Players
1A 2)B 3C @D
56] Yellow, Sunflower, Jasmine
®HA 2 F 31 4D

57] Building, Brick, Bridge
mc 2)A 3)D 4E

Find the correct Answer to the following
questions using Venn Diagram

.
Actor

Politician /

58] Which number represents actor who is in politics?
M1 @2 34 @8

59] Which number represents Singer cum Actor
m3 @8 39 (O

60] Total number of actors who are also as singers
110 211 39 44

61] If A means +, B Means -, C means X, D means -+

then the value of SO A19B 36 D2)C3A15A (10D 5)
(1) 44 (2) 40 3)32 4) 28

28D g6 &6 T SOy LD ST T L L Pk &S ST
oot & aoilu e es = =2 el L gdh s erTl s
ELESIMLITL|SHemeTT s 61 IMETar L. S8 66U G Ut ik
efflsormsiilegn i SrEMBSIRILILT L SLSSITeEs U IL | S6sTT
=7 55 s LD = I LiL g5 2B e T
MBS T S Ty 5 5| SREDT MRS, <M 6 STOETT &6 6 MRN8 .

@Doo@

(B) IIC]' (D)
(E) (F) (G) ()

54] UeLCHMEWIMISET, HTMHSTMIGHET, & HIPMHIB6I
mc @B @(GH @E

55| LOM6EUOIEUITS 6N, HLIG. a6,
HMN&QsL afijiigen
A 2B @dC @D

56] LOEh&6T HMLD , FMLISTHS), LOELEOIEWS
A @F 1 @D

57] SLIg.LLD, Q&MmI&6L, LimeVLh
MmC A 3)D 4E

NetT6U(HLD N6IMTEHSEHSHG CleuvILIL LD
Qaneioi(h &Muwimen edlenLsnild CHNHASHEH

meg s

58] SAPHILIEANEL 2_6iTen Blg.5H6mI GMISHEGLO
616301 618
1] 1 2] 2 314 4] 8

59ILUML &JI&IL blg &H60) GMISGSLD 616501 618 ?
113 2] 8 319 41

60] LML &6 [blg SiT1s6letT 6165016081860)8
1110 2111 319 4] 4

61] A 6T60TLIG)| +, B 6160TLIG) - , C 6T60ILIG| X
D 616TLIGI + 61681160

50A19B(36D2)C3A15A(10D5)LD§]IJL|?

1] 44 2] 40 3132 4] 28



62] If +means X' +means’'—,

N r
— means ' = and X means "+

then 11 +5x18)—8 <= 17 =9
1 s3 2)52 (3) 55 4) 51

X
/N — Trained nurses
AN\ ]
/3 FEATAN
/ [5)4\

\ 6/ A
\ P / N\ —>Nurses in hospital

(") — Married population

63] By which number married But untrained Nurses ?

1] 4 2] 6 317 4] 5

64] Two signs are to be interchanged in the given
relation to get the correct answer. The relation is
9+5 + 4 x 3 -6 = 12. Then the sign are ...
1] + and - 2] + and -

3] + and x 4 + and x

65] If the interchanges are made in signs and numbers,

which one of the following would be correct ?
Interchanges in sign: - , x
Interchanges in number: 3, 6
116-3x2=9 216 x3-4=15
313-6x8=10 4 3 x6-4=33

66] If P denotes ~, Q denotes x, R denotes + and
S denotes -, then the valueof 18Q12P4R5S6 ?
1] 36 2] 53 3159 4] 65051

67] If A means -, B means <+, C means +, D means x,

then I5SB3C24A12D2 ?
1] 34 2] 2 3]15/9 4]5

68] If + means X, - means + , X means -, ~ means +

then the valueof (36 x 4) - (8 x 4)
4+8x216 ~1
1]0 218 3]12 4] 1

69] < means- ,> means + ,= means X ,
# means = , then 27 > 81 #9 <6 =5is ?
1] 66 2] 36 3] 6 4] 30

62] = ETEUTLIG] " ', +ETEiTLIG] "—',

— eTHRMIBD X ETEOLIG] ' +
616060 (11 + 5% 18) — 8 = 17
(1) 53 )52 (3) 55 @) 51

EI — Trained nurses

O — Married population

A —> Nurses in hospital

63] 61 eT6vu1 H)(HLOGILN LOMHMILD LIUNMHE
QuprS Q&aledlLemn] GMisb@Ln ?
114 216 317 45

64] 9+5 + 4 x 3 - 6 = 12 616810 QASMTLTLTN60T
allenL. Mg SHemL&s Lomml
SlMLSHSLILIL. CeU6TallgILI G D&6N

1] + and - 2] + and -

3] + and x 4 + and x

65] @M LOMMILD 6T6581SHED 6T LAMMIOILIEHLASEGLD
UL &5$6L G @MULIL (Herenemeuseriled
c1emeu FMmeemney ?
LormiliienLod s Ceueitligul G : x, -
LOmHMILIELOSSLILIL. Cev6uTIqILI 6T680T: 3, 6
116-3x2=9 216x3-4=15
313-6x8=10 43 x6-4=33

66] P 6T60TLIGI + , Q 6T60TLIGI X , R 6T60TLIG) +,
S 61601LIG) - 6163116D 18 Q 12 P4 R 5 S 6 LOKILIL| ?
1] 36 2] 53 3159 4] 65051

67] A 6T60TLIG) - , B 6T6OTLIGHI + , C 6T6HILIGI + ,
D 61651LG| X 6160116D 15 B3 C24 A 12D 2 LOGHIIL ?
1] 34 2]2 3159 4]5

68] + 6T6UTLIG] x , - 6TEBILIG] + , x 6T6OTLIG) - ,
+ 61681LIG) + 6T6v16YLD QSHMTETUIL_T6D

(36 x 4) - (8 x4)

4+8x216+1 LOS)LIL| 6T60T6DT ?
110 2]8 3] 12 411

69] <6IedILIG)] - ,> 6TEOILIG| + , = 6TEILIGI X ,
# 61681LIG) + 61601 GDHS ML

27 > 81 £ 9 < 6 = 5 HG& FlLOLOMEG) ?

1] 66 2] 36 3 6 4] 30



The following diagrams show some relationship among
three terms. Choose the correct diagram from A, B,
C, D and E which corressponds to each group of terms

70] Females, Mothers, Doctors
1]1B 2] E 3]A 4] D

71] Sun, Star, Moon
1]1C 2] D 3]A 4] E

72] Tree, Eggs, Nest
11D 2]1C 3]B 41 E

73] Atmosphere, Oxygen, Hydragen
11E 2]B 31A 4] C

74] Honesty, Intelligence, aptitude
11D 2]B 3|1C 4] A

Circle indicates Educated Peoples, Rectangle indicates
Women, Triangle indicates Employed Peoples. Study the
the diagram carefully and answer the following.
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75] How many peoples are Educated in all ?
1] 6 2115 3121 4] 11

76] Number of Educated Women ?
1] 8 2]16 3] 15 4] 13

77] Educated Employed Wmen ?
1] 10 2] 13 3] 14 4] 21

el eNemalMH@GLD QML TLELLLI
gMwimen UL end Qam(BoHaLLL (HeTen
A, B,C, D, E LLu&eMNedhhl CohAsH S0

70] CILIGHUISHEN, HITUILOMITSH6N, LO(HSSHIEUTEH6N
11B 2]E 31A 4] D

71] §Mil6tt, HL_&SHAHTLO, Hleom
11C 21D 3lA 41 E

72] LOQLD, (LOL_6ML_&6IT, Jo.(
11D 2] C 31B 41 E

73] euefLOGTTIL 6VLD, ), &ErSl60T, ENEUDL 65T
11E 2] B 3]A 4 C

74] GpiTemLo, ADI6YSHMEHT, HIL_L LD
11D 21 B 31C 4] A

GUL_L_LD - LIlg.$S6UIT, Q& 6LeusLD - QILIGTTIS6,
(WN&HCHITEILD - GeuemeLUINEDL 2 66T
16010l GMIHHMG) 61631160 Ll6dT62 (LD

6T & Eh&HE eXlenLLLier.
i gt
SN
S N !
— 4’/ AT N
Z 1 N .

75] Uy SGeunseiledt QLOMS S 616t1608N&H6MS ?
116 2] 15 3121 41 11

76] UIg&& QL6cTu186M6T 616301608115H6M8 ?
118 216 3115 4113

771 UIg.$& Geuemevliled 2_eiten GiLI6unS M6t
6TGUOI6TN &6 S ?

1110 2] 13 3] 14 4] 21



78] Women who are Employed but not Educated ? 78] GeuemevuileL 2_6ien Lilg. 651

1] 22 2] 14 3124 417 QueTTIS 66T ET6TTIETINEEMS 2
1] 22 2] 14 3] 24 4] 17
79] Total number of Educated people who are neither 79] GeuemevILIMM CILIETIIS6I IELEVNS
Women nor Employed ? Uig.$&euMedt QOGS 6168016501 & 6008 ?
1116 216 3115 4110 1116 216 315 4110
80] 2 means 4, 3 means 2, 4 means 8, 8 means 3, 80] 2 6T6OILIGI 4,3 6T60ILIGI 2, 4 6T6UILIG) 8,
then4/3+2x8="? 8 6T60TLIG) 3 6T6dTMILD GMILITIL_L M6
1] 16 2] 4/19 3]11/10 4] 1 4/3+2x8="?
1] 16 2] 4/19 3] 1/10 4] 1
81] & means +,p means - ,7 means X ,A means -, 81] o 6I6BILIGI +, B 6T6OILIG] - , v 616FILIGI X ,
then 5a374A2B1is-— A 61601LIG) + 6T60TMI GMILINL_L_T6L
115 218 3112 4110 5a374A2p1°2
1] 15 218 3112 4] 10
A e e . Village Ay D T Vit
/A : | A : \
[BN_ | —1 el o [BN_ | —1 L feeies y
1 ~SS1,/ c l D T‘> et ucates TMP‘: . 1‘ ~§1/' c D 1‘7 fducates T%F: .
' \‘j E ‘ - .4,.)114:‘-5"19) ar \‘} 5 b ‘ g LS :J“ﬂ9> 2
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82] - represent educated people who live in Village. 82] HPMLOGHSV Lilg ST &HemeNS GOILILIGI -
1] A, B 2| B, C 3]G, C 4 C,F 1] A, B 2] B, C 3]G, C 4] C,F
83] Educated unemployed people live village are 83] HPMLOSHSHEL Lig & Cauemneouned
represented by --—----- @eveungauemnysd GMiLILIG] -—--
1A 21C 3B 4D 1A 21C 3B 4D
84] People who are educated and unemployed but 84] UIg-$S, GeueneouTleLEVN Sy 6v1eL
not living in village are represented -------- g dled Qeveondealennd GmILILIG) -
11F 21 G 31 C 4D 11 F 21G 31 C 4D
85] E represents -------- 85] E 6T60ILIG) -
1] Only unemployed 1] Geusmevulledeun e O (HLo
2] Only educated 2] LIlg & &6uIT Lol (HLo
3] Only live in village 3] HpMLGSHle0 2_eneeul L HLo

4] Educated who live in village 4] Uig 6 LoMMILD HYModSHed 2 ereneuit



86] B represents ---—----
1] village people and Educated people
2] Educated and not Employed
3] Unemployed living in village
4] Educated, unemployed living in village

Leaders

Indian

gzb

Singers

87] Which region represents Indian Leaders who
are Singers ?
12 @ 3 )4 OR

88] Which region represents Leaders who are
neither Singers nor Indians ?
®H2 23 36 @7

89] Which region represents Indians , Singers who
are not Leaders ?
M1 2) 2 33 4)4

90] Which region represents Singers who are
neither Indians nor Leaders ?
12 (2) 4 36 @7

86] B 6T60TLIG) -
1] U9 $& LoHMILD HTLadHed 2_ereneur
2] LIg.$S LOMHMILD GeusneouTNevevNG6ul
3] Geuemevuilbevn el LoMHMILD
&g Hed 2 sreneuit
4] UR$&, Ceusmeouevevns
&g Hev 2 eneneuit

UML&T&eT

b 8 Sevevautas
3} s >
®

Bidwinast

871 61hS LGS LML S1&H6NNa 2_een Qb
SMELAINTHMENS GMSHMEG) ?
M2 @3 34 OF

88] 61hd LGS QhSILIMSHeTEHe LD,
LML & SH6MM&HELD SI6LEVITSH SHEMIVEUTHM6SH
©&D&H) 2

12 @3 3)6 @7

89] 61h& LGS SHEMELAUNSHET SI6L60MS
QHSHILITSHEDETILLD, LITL SITSHEN6NILLD
&DG&HMG) 2

M1 (2) 2 33 @4

90] 6THS LIGSH QhHITSHeNTSHeLD,
SHEMELEUMSHAMTHELD SILEVITS LITL SHTSHEM6NSH

GD&HDG) ?



